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I Semester B.C.A 4 Degree Examination, Nov./Dec. - 2019
PROGRAMMING IN ‘C

" (Repeater/Regular)
Time : 3 Hours ’ Maximum Marks : 80
Instructions to Candidates:
1. Answer all the Sections
SECTION-A
Answer all the questions: : ' (10x2=20)

1. a) Define algorithm and state its characteristics.
b)  What are advantages of flow chart?
c) Whatissymbolic constaﬁt?
d) Listdifferent format specifiers.
e) Mention relational and logical operators.
f)  State the syntax of if - else statement.
g)  What are storage classes? Mention different types of it.
h)  What are actual and formal arguments?
i)  What is a string? How to declare it?
j)  What is a union? How to define it?
SECTION-B
Answer any four of the following: (4x5=20)
Differentiate between High Level Language and Machine Level Language. .
Explain unformatted I/O statements with example.
Differentiate between entry controlled loop and exit controlled loop.
Write a program to find length of a string without using string function.

What is a structure? How to define and declare it? Explain with an example.

P.T.O.
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SECTION-C
Answer any four of the following: (4x10=40)
7. Discussdifferent steps of problem solving using computer. (10)
8. a) Explain for loop with syntax & example.
b)  Write a program to check whether an alphabet is vowel or consonant. (5+5)
9. a) Whatisaconstant? Explain different types of constants.
b)  Discussincrement and decrement operators. 5. (5+5)
10. a)  Explainerror handling during I/0 operations.
b)  Wiitea program to add two matrices. (5+5)
11. Write short notes on any two:
i)  String handling functions.
ii) Command line arguments.
iii) Branching statements. (5+5)
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I Semester BCA 4 Degree Examination, Nov./Dec. - 2019
MATHEMATICS-I

(Regular)
Paper - (BCA 4)
Time : 3 Hours ‘ SECTION -A Maximum Marks : 80
Answer ALL ofthe following questions: (10x2=20)

2+5i

1. a) Express in the form x+iy.

iz, [cos A+iSinAf
b). ~simplify [cos24— iSinZAT3

¢) Ifthe fourth term of A.P. is 15 and whose common difference is -2. Find the 8" term of A.P.
d)  Find the Tenth term of the GP. 5,25, 125,..............

e) If o and fare theroots ofequétion 2x* +4x—5 =0 find the value of @ + £ and af .
f) State Binomial Theorem.

g8)  PTTanA+CotA=SecACosec A
h) Ifa=2i—3j—kand p—6i—j+2k
i)  Find the distance of the point (3,~4) from the origin.
i) Find the equation of straight line given its intercept on axes (3,4).
SECTION-B
Answer any FOUR Questions: (4%5=20)

2—i 1+3i

2.  Find the conjugate of the complex number and express it in the form a +ib —; e r 1-3;

3.  The Third term of G.P. is 12 and the sixth term is 96. Find the sum of 9 terms.

: ) 3 12
4. - Find the 8" Term in the expansion of (ZX : —;) .

P.T.O.
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10.

11.

14
&3 . X
% Find the middle term in the expansion of (;—3] :

Find the area of the parallelogram whose adjacent sidesare 5 — o; + 3 5k and h=i+2 j+k-

Find the equation of the straight line which passes through (3,-4) and (—2,5).
SECTION-C
Answer any FOUR Questions: ' (4x10=40)

TR (cos36 +iSin30) (cos 26 — iSin20)
?) ool (cos 40 +iSin40)’ (cos 50— iSin50)’

b)  Express the complex numbers in the polar form and hence find their modules and amplitude

z=1+i. _ (5+5=10)
a) In aA.P.the seventhterm is 20 and the Thirteenth term is 38. Find the Fourteenth term.

b)  Find the sum of 5+55+555+----to n terms. (5+5=10)

X

j I
b) If ¢ and Baretherootsof 3x> —2x+1=0 fmdthevalueof—;+;. (5+5=10)

14-siné

a)  Provethat =secf—tané .

b) Inany Triangle ABC, prove that 2[bcCos4 +caCosB+abCosc|=a* +b*+c*.  (5+5=10)

a)  Showthatthe points 4(2,—4) B(4,~2) and C(7.1) are collinear.
b)  Find the co-ordinates of the point which divides
i Internally
ii.  Externally the line joining the points (2,3) and (4,5) in the ratio 1:2. (5+5=10)
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I Semester B.C.A 4 Degree Examination, Nov./Dec. - 2019
COMPUTER FUNDAMENTAL
- (Regular and Repeater)

Paper : BCA 4
Time : 3 Hours ' Maximum Marks : 80

Instructions to Candidates:
1. All the three Parts are compulsory
2 Draw diagram where necessary.

PART-A
Answer the following questions: (10x2=20)
1. a) Acomputer is also referred to as a computer system. Justify.
b)  State the function of output unit.

c)  What do you understand by the term base of a number system? State the base of octal and
hexadecimal number system.

d)  Whatis non- positional number system?
e) Name the units used to express:
) Processor speed
i)  Memory capacity
f)  Why I/O devices are called peripheral devices?
g  Whatare the two modes of editing text in Ms Word? Explain briefly.
h)  Define the term software. Name the two basic types of software.
)  Define operating system. Give two examples.
j)  Whatis the purpose of title bar in windows operating system?
PART-B :
Answer any FOUR questions: ' (4%5=20)
2.  Draw the neat block diagram and explain the basic organization of computer system..
3. ~ What is binary arithmetic? Explain the four rules in respect of.
i) Binary multiplication
i)  Binarydivision
4.  Discuss the evaluation criteria for storage unit of computer.
P.T.O.
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10.

11.

Distinguish between system software and application software.

Write a note on (any one):
i) - Desktop
i)  Display properties
PART -C
Answer any FOUR full questions: - (4x10=40)
a)  Why computeris often referred as data processor? Support your explanation with neat diagram.(5)
b)  Discussthe characteristics of computer. (5)
a) 1) Convert the given binary number (1101 1), to itsequivalent octal, decimal and hexadecimal
number. . )

i)  Convertthe given decimal number (245),, to its equivalent binary and octal number.(5)
b)  Explainthe different number system and state their base and symbols (digits) in them. (5)
a)  Drawaneat diagram of magnetic disk and explain how data is organized on disk. )
b)  Drawaneat diagram illustrating the role of /O devices in computer system and explain.(5)
a)  Explain formatting of text. ' } )
b) ~ Whatisapplication software? Explain briefly any two application software. 5)
a)  Drawneatdiagram of logical architecture of computer system, showing dperaﬁng system &

explain. A &)
b)  Explain (any one): |

3 L kb

i)  Filesand Folders ‘ 5)
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I Semester BCA 4 Degree Examination, Nov/Dec - 2019
FINANCIAL ACCOUNTING
(Regular/Repeater)

Time : 3 Hours : Maximum Marks : 80
Instructions to Candidates: :
= 1. Attempt all the section as per Instructions.
2. Simple and non programmable calculators are allowed.

SECTION -A
Answer all the questions. Each question carries 2 marks: (10%x2=20)
1. a) Whatisdata?

b)  What is bad debt?
c)  Give the two example of subsidiary book.
d) ExpandJFand LF.
e) Give an example of Fixed assets.
f)  Whatisdrawing?
g)  Opening stock is recorded

i) TradingA/C

ii). Balance sheet

iii) Profit and Loss A/C

iv) None of the above
h)  Whatisjournal?
) What is narration?
j)  Whatcashdiscount?

SECTION-B
Answer any FOUR. Each carries 5 marks: (4%5=20)
2.  Whatare the features of Journal?

3.  Whatare the characteristics of Computer?
P.T.O.
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4.  From the following information prepare Mr. Gopal A/C for the month of Nov 2018.
Ist Sold goods to him Rs.20000
3rd Bought goods from Gopal Rs.15000
S5th  Returned goods to Gopal Rs.2000
10th Issued cheque to Gopal Rs.10000
15th Received cash from him Rs.12000
20th Received cash from him Rs.4800 and allowed discount 200
5.  Prepare Bank Reconciliation statement as on 31.03.2018.
i)  Bank balance as per cash book Rs.10000
ii)  Cheques deposited in to Bank Rs.5000 on 28th March 2018 but
iii) Cheque issued to share Rs.5000 on 28th March but was presented on 10th April 2018
iv) A customer Tayappa who directly creditor over account Rs.1000
v)  Banker debited the pass book Rs.100 in respect of Bank Charges.
6.  Draw the block diagram of a computer.
SECTION-C
Answer any FOUR of the following, each question carries 10 marks. (4%x10=40)

7.  Journalise the following transactions in the books of M/S Vijaya Laxmi Co for the month of Nov.
2018.

1st Started business with cash Rs.80000.

3rd Deposited in to Bank Rs.20000.

5th Bought goods from Harish Rs5000 on credit.

7th  Sold goods to Pavan Rs.8000 and received cash.

10th Bought furniture Rs.8000 from Ram furniture works Hubli and paid by Cheque.
14th Paid for advertisement Rs.800

18th Received cash from Mohan Rs.8300 in full settlement of his account Rs.8500
20th Paid wages Rs.1000 and Carriage Rs.500

21st Cash withdrawn from Bank for office use Rs.1000 and personal use Rs.500
28th Paid office rent Rs.800 by cheque

30th Received on order for supply goods from Shankar and Co Rs.50000




AT GG 3) 41121/A210

10.

Prepare cash book for the month of Nov.2018. 3 column.

Ist
3rd
5th
8th
10th
15th
16th
20th
25th
26th
28th
30th

Started business with cash Rs.100000

Opened Bank A/C and deposited in'to Bank Rs.50000

Bought goods from Ravi and paid cash Rs.5000

Sold goods for cash Rs.30000

Paid cash to Ram Rs.3800 in full selectment of his account Rs.4000

Received commission Rs.8000

Paid for advertisements Rs.800 and Rent Rs.1000 by Cheque

Paid for postage Rs.100

Paid salary to Manager Rs.1000
Cash deposited in to Bank Rs.2000
Sold goods and ruled cash Rs.10000

Withdrawn from Bank for office use Rs.1000 and personal use Rs.500

Ayush and co bought machinery costing Rs.40000 on 1st April 2017 and spent for its errection
Rs.10000. The company charges depreciation @ 10%. On dimenshing balance method show
machinery and depriciation account for 3 years Assuming sheet accounts are closed on 31st
March each year.

Fron'n the following information you are required to prepare Purchase Book Sales Book Purchase
Return and Sales Return for the month of March 2018.

Ist
4th
8th
10th
15th

18th

Bought goods from Shankar Traders Rs.2000 on credit.
Sold goods Rajaram Rs.8000 at 10% Trade discount
Sold goods to Govind on credit Rs.4000

Mahesh sold goods to us Rs.7000 on credit.

Returned goods to Shankar Trader Rs.500

Govind returned goods to us Rs.1000

P.T0.
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11.  From the following trial balance of Maruti & Co as on 3 1st March 2018 prepare final account

41121/A210

Sr. No Name of A/C
1 O/stock
2 Purchases
3 Sales
4 Wages
5 Salaries
6 Rent & Rates
7 Discount earned
8 Advertisement
9 Bad debts
10 Capital
11 Discount allowed
12 Drawing
13 Sundry Debtors
14 Sundry creditors
15 Bills payable
16 Machinery
17 Cash
18 Bank
19 Bills payable
20 Furniture

Total
Adjustment:

Debit
12000
16000
2000
1400
900
2100
1000
1000
1000
8800

8000
2000
1000
2200
5000
64400

i)  Closing stock on 31st March 2018 Rs. 18000.

Credit

9000
1000

64400
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I Semester All U.G. Courses Degree Examination, Nov./Dec. - 2019

INDIAN CONSTITUTION
(Repeater and Regular)

Compulsory

Time:9.00a.mto 10.30 a.m (90 Minutes) ° Maximum Marks : 80
Instructions to Candidates:

(1) Check for complete prz'n'ting of 80 questions.

(2) The last page of the question paper may be used for. rough work.

(3) Each question has four Multiple Choice Answer and choose the correct one.

(4) Darken the appropriate circle with the ball pen.

) Damaging/overwriting using whitener on the OMR Sheets are strictly prohibited.

(6) No candidates will be allowed to leave the Examination Hall till the end of the
session and without handing over his/her Answer Sheet to the Invigilator.

(7) Candidates should ensure that the Invigilator has verified all the entries and that
the Invigilator has affixed his/her signature in the space provided on the OMR
Sheet.

[P.T.O.
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1.  Theemergency provisions of Indian Constitution were borrowed from.

(A) Russia (B) U.S.A.

(C) Germany : (D) Canada

2BF TTR S0 BHTONTRY, Cdna B33 RoDTRROT SEBNBRTLING.
(A) T B) 30T

(C) wRFR D) Fow@

2.  Parliamentary Democracy as has been envisaged implies:
(A) Representation of the people
(B) Responsible Government
(C) Accountability towards the legislature
(D) Separation of Executive from Legislature

Identify by following code
(A) A,B,CTrue B) A,C,DTrue
(C) A,B,DTrue ‘ (D) B,C.DTrue
AozOead Tew@, e SIS CARYEY, werieoRs.
(A =IO T, EVT, (B) ==R0 p3lei-ple]
©) saxaaoﬁéé %@LI0 (D) TDATOND) ToOIRF ONAOT dear%dagd.
FENT ROFEBNLOT MOSF .
(A) A,B,C=0 ' B) A,C,D=d
(C) A,B,D#=0 (D) B,C,D =0

3.  Thefollowing articles protect the rights of the minorities in India.

(A) Article-23 and 24 (B) Article-25and 28

(C) Article-29and 30 (D) Article-32

INS CIPT QPN LRUSE BORSR,IT &LTBINE, TRV APREIN.
(A) 23303 243e QN ' (B) 25 s 283 QN

(©) 29 RE) 308 DQEH D) 32320
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4.  Recently government of India has abrogated article 370 and 35 (A) for which state these articles relates

or belongs.

(A) Jammuand Kashmir . (B) Hyderabad and Karnataka

(C) Telangana (D) Panjab '

“&ééz&j 3e0T, RToF OR) RONGOIB 370 Tone 35 (A) DN, T BBT. B3 VRN 8RS
Uauasﬁb TOWODR.

(A) =@ =B 5040 B) T, R Toor s

(C) 3Beoomes (D) oW

5.  One ofthe following is an example of a flexible constitution.

(A) USA (B) Swiss

(C) British ' (D) Australian

ROY (SR,) RODTOTE, LVTIBTFTOINT FONTS BN,

A) e=0e05 (B) :?zasfrmc‘emsocs‘
C) VueR (D) eﬁ?&eeﬁo:b?,

6.  Which one of the following amendment reduced the voting age from 21 year to 18 years ?

(A) 52nd Amendment (B) 60th Amendment
(C) 61stAmendment (D) None ofthese
O3S STBROIN RBTRE SODIRY, 21 003 18 g BYATONT.
(A) 523e STB B) 60 skl
(C) 613e écbc)a@ D) P B,

7. Rightto property has been granted by one of the following Articles of the Constitution, which one is it?

(A) 299(A)Article (B) 300(A)Atticle
(C) 301 (A)Article (D) 302 (A)Article
| RIS DRI B BYIY TPIAT WG BFOW BRF,WRET.

(A) 299 (A) Fe 2B B) 300 (A) Se 2
(C) 301 (A) Fe 2B @) 302 (A)Fe 20

[P.T.0.
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8.  The 52nd Amendment Act deals with

(A) Anti-Corruption Law (B)  Anti-Defection Law

(C) Neither (A)nor (B) (D) Both(A)& (B)

52 Je 3?.:’%5@ CARRTT B0 BEB3.

(A) P TT e Fo0%), (B) Ws0ET QeReR 503,
(C) (A)=r=»(B)3d D) (A) == (B) 20T AO

9. Thetermof Rajyashabha is

(A) 4years (B) Syears
(C) 6years (D) Permanent
oatséxzjcda ©0T0 SRPOIN

A) 43IRF B) STRE
(C) 6=RF D) &5od0o

10. The Joint sittings of the two houses of the parliament is presided by

(A) The Speaker (B) The Vice President
(C) The President (D) The Prime Minister
O3 BORCIID e.ec;égé R EAOWRT.

A) =Po=s (B) ema‘oa%&é

©) oa’%a’é D) =,78 =08,

11. When does the President of India is empowered to promulgate ordinances ?
(A) The Lok-Sabha isnot in Session (B) The Rajya Sabha is not in session
(C) The Parliament is not in session (D) Noneof the above
LI0ST ToFRFTE0TN 3TN AN, FCDT) BRTBFITT ?
(A) dres FPod0 SRBBIBY aQhmn  (B) T, Aot wRBIITY, aQdmIN
(C) =om=) BRVIITOLATAN (D) ROT BRBTO &€
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12. Whocertifies thata particular bill is money bill ?

(A) ThePresidentofIndia (B) The Speaker of the Lok-Sabha
(C) TheFinance minister - (D) None of'the above

3RRRE do?ifadodasgi DEITIAD WIRATOI0T VFFORTHTD 0353d 9

(A) RTsEx OHDE B) deesIyioDd R €30°

(C) meazoRd @008, . D) Hoeds BT ey

13.  Emergency Provisions have been incorporated in the following articles.

(A) Article-131,132 & 133 (B) Article- 153,154 & 155

(C) Atticle-170,370A, 370B @) Article-352, 356 & 360
080F TORSADRY, PREAROT D AR ?

(A) 131,132 382 133 Se DO B) 153,154 308) 155 Se QoeH

(C) 170,370A 353 370B e QO @) 352,356 398 360 Fe DO

14. Article 368 deals with
(A) Special status to the state of Jammu & Kashmir
(B) Legislative Councils in certain states.
(C) Method of amendment of the Indian Constitution
(D) None ofthese

368 Se DH0IN IRFTRY, RO BeshIS.
(A) =& ==Y 59§ T8O DFeR mcpmm
(B) DR BOHER FoLoHAT

(©) oI STTAH DT

D) IR @Y,

[P.T.O.
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15.

16.

17.

18.

Which of the following schedules relate to the division of subjects between the union and the states ?

(A) Schedule-III (B) Schedule-1V

(C) Schedule- VII (D) Schedule-XII

BHNT OFRT LRORRUCID FEOT, TONR Oaasﬂej ﬁsz;%d LHPTIT BOLT 008D YA T.
(A) eomes-1I B) =oAL -IV

(C) e0=es- VII D) eszoae-XIl

District Judges are appointed by whom ?

(A) ThePresident (B) The Governor

(C) The Chief Minister (D) The Deputy Commissioner
B, T, CINRETTI) 033900 Fe0T BREBT ?

(A) oaa;ﬁ% B) oazs‘_sm@do

© daoabémo:a) oDOT D) BWHRYTO

Which Union Territory has a High Court of its own ?

(A) . Pandicherry (B) Chandigarh
(C) Delhi ’ (D) Lakshadweep
0373 $e0T, BYS B,363 ST BT T B BROVT.

(A) 0oB3eD (B) Bo&ncE

(C) T=9 D) o3 Qe

Which one of the following is incorrect ?

(A) The Vice-President should be a citizen of India

(B) The Vice-President should have completed 35 years of age.

(C) He should have qualifications of member of Lok-Sabha.

(D) He should have the support of the majority party.

NS CINT)TD BEPTOIND Smj\d.

(A) wwcma;wéoiw 2IO0BT TONOTDINTLICTO.

B) wwoaa;a‘am 35 B, DI BRODTLIEB.

(C) BT SReERYIoID FTA,TINED QTOD @a.#réojoagi BRODTLIER.
D) BV BB IEE wgp 23owe B[EOTLIED.




OO RO M O >~ 10941/A980/10911/10901

19. Who among the following occupied the office of the president for two terms ?

(A) Dr.S. Radhakrishna (B) Dr. Rajendra Prasad

(C) DrZakir Hussain (D) Dr.S.D.Sharma

23 SINTFOY, 03T TR L0 TIFFS BT ONRY, SOOFOTHTD SNTT.
(A) @o. TITRTH (B) ToxeoT, @:@w

(C) 2380 VHES* (D) ©o.S.D.3=nF

20. By whose advice are the ministers in the state appointed by the Governor ?
(A) The Prime Minister
(B) The Chief Minister
(C) The Speaker of the State Legislative Assembly
(D) The President
Q33T FOTOD T Tozs, TOTO 008, NYRY, Beaads WRETT.
(A) =,78 2008, (B) sosdd0g,

(C) D%, DB FLPTE D) o=

21. Inwhose name are the executive powers of the state exercised ?

(A) The ChiefMinister (B) Governor

(C) Vidhan Sabha (D) Vidhan Parishath
To%3, @ TRCIREONCD LHTDONTL VT THOTE, WBCOBTBCIRNOT.
(A) :msaszoo\_%) . (B) oauzgawcb
(C) dposzed D) DI TORD

22. The Chairman and members of the joint public service commission are appointment by the

(A) The ChiefMinister ‘ (B) Govemor

(C) ThePresident (D)  Vide-President
083 RETRCTD S03ReNT BTTT), FERRITRTO CIRT.

(A) awabsmo@ - (B) T RO
©) oaa;@’é » (D) wwm%a‘é

[P.T.0.
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23.

24.

25.

26.

@)
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Who among the following was the first Deputy Prime Minister of India ?

(A) Murarji Desai
(C) L.K.Advani

®)
D)

Y. B. Chavan
Vallabai Patel

21 S9N CIRES B, 300 RT3 ST VBT, 208 0dRN T8, ASFEATT.

(A) TORTIVF TeRICW

(©C) was

The bill [Legislative] means
(A) Adraftlegislative proposal
(C) Adraftordinance

(FTONTE) SORAT D0TTEI ?

(A) ToRTOONE FOR TR
(C) =on,mgiod TR

B)
D)

B)
D)

(B)
D)

Who was the Chairman of Drafting Committee ?

(A) Dr.B.R.Ambedkar
(C) Sardar Vallabhabhai

(B)
D)

RONTINT TSR BRSO BT TTO 03N ?

(A) D.GT. LoRBT

(C) RmoFd BYLRCW BEdew

®)
D)

Y. B. zsmwsa

TQLIOW Tedew

A draft executive order
A draft treaty

FO3PFORE FOR> BRI
wTOTT 3V
Jawaharlal Nehru

K.M.Munshi

ZWOBTCRO JHTO
K.M. @032

How many types of citizenship granted to citizens of India ?

(A) Single Citizenship
(C) Triple Citizcnship

®B)
D)

000 DT, LMo a-}ad:a; QeBRNT.

(A) &8 DNOTS
(C) &9 Dorioess

B)
(D)

Double Citizenship

None of these

Slplgtels)
OIRRT B,
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27.

28.

29,

30.

®)

by which amendment right to property dismissed ?

(A) 42nd
(C) 44th

(B)
(D)

10941/A980/10911/10901

43rd
55th

ROLTIDT 039 STOTROD TROT U ST, dd%a@:do‘aﬂd.

(A) 42 e ST
(©) 44 JesHnR

What deals with Article 51 (A)

(A) Rights
(C) RightofReligion

51 3¢ (A) DI DT, STRTT.

(A) I

(C) Towrs cTo'ﬁ%

Abolition of titles by this article
(A) Article-19
(C) Article-14

LOT[ORIR), TR IRES I AN

A) 1932
©) 14320

Which article tells about uniform civil cede ?

(A) Article-40
(C) Article-42

B)
D)

B)
(D)

(B)
D)

B)
D)

(B)
(D)

B)
(D)

43 Je 555%@'@
55 e 3@;@

Duties

Right to Property
53?55 nebd
Clalad 355%
Article-18
Article-20

18 Je O

20 3¢ )

Article - 44
Article-43

QBTRZIT JoNOT :Joéoéoiaal BODRD BT FODTIRE DY BTN,

(A) 4030
(C) 423 DO

(B)
D)

44 Je DB
43 Je 2O

[P.T.O.
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31.

32.

33.

34.

Who will appoint Judges of Supreme Court ?

10941/A980/10911/10901

The Prime Minister

None of these

TR IO, TIEd

(A) The President B)
(C) The ChiefMinister ' (D)
:\,’Q'raerzi amz;cdmooa’ad 9, 0IRGETTZY, 03T eOT BRWTIT.
W) RN ®)
(C) 00N (D)

Which type of government implement in India ?

(A) The Presidential type (B)
(C) Dictatorship (D)
PRTUSTEO), 03N BREO FTFTIR.

(A) tﬁcjﬁi 03 WRTO (B)
(C) A=OFHTIO WRWO (D)

Residency powers belong to

(A) Union Government (B)
(C) State Government (D)
Bea QTN 030N ACD ?

(A) 3eomT AEFT ‘ B)
(C) oo, R5oFT D)

Who has the power to proclaim emergency ?

(A) TheParliament (B)
(C) The Prime Ministers (D)
30F wa%aojaq DREARIT BHTIT QWONT.

(A) B0 B)
(€) TFs =0, _ D)

O33R &)
™

Parliamentary type
Monarchy

RORREOID WIRTO
TR, GIE, BWRWO

Local Government
None 6f these

:;p Qo ATIFT

FoeOT AR O,
The Council of Ministers

The President

B0S,T0TBO

OD’%‘&'@T@J
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35.

36.

37

38.

Which article prohibited slaughter of cow ? _
(A) Article-48 - (B) Article-350

(C) Article-356 : (D) Article-79
ﬂ:aes% Zaaiet,samq HEFOT TV W QWINT.

(A) 48 3R B) 350 Se
(C) 35632 D) 79 32

Who is the Speaker of Lok-Sabha ?

(A) OmBirla (B) Sumitra Mahajan
(C) Smt. Meira Kumiar (D) Venkaiah Naidu
B R03 SpesRLIodd BegREe cSRTd 9

A) %o VoeF (B) =0T, TWI®
(C) & e308 Q0T BBRT (D) sSoged, ey

How many subjects are enumerted in Central List (Union Llst)

(A) 100 B) 66
(C) 6l = D) 55
3e0s3, BIODYZOT DR, ?

(A) 100 (B) 66
(C) 61 D) 55

Under which article joint session of parliament will be called ?

(A) Article-108 (B) Article-120
(C) Article-100 (D) Article-150
RODTRTT CIREE HRCD TFHT 20k BP[TTR/Y, 3503,
(A) 108 Se 2 B) 120 J¢ 2B
(C) 100 Je &0 D) 150 Se O

[P.T.O.
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39

40.

41.

42.

Who is the Chairman of Rajya Sabha ?

(A) Vice President (B) The President
(C) Prime Minister (D) Chief Minister
oauasm,ﬁojo Te3owé 030NTOST ?

(A) maoaa;j&é (B) Uaau;aé

(C) =,7D008, (D) 00,008,

What is the number of elected members of Lok Sabha.

(A) 545 (B) 543
(C) 544 (D) 560
SneaRyodd TS FFR,T Fo3,.

(A) 545 (B) 543
(C) 544 (D) 560

Which house of parliament is subject to dissolution ?

(A) RajyaSabha (B) LokaSabha
(C) Two house of Parliament (D) None of these
RORET 0309 BEID) ARBESN LITEBE ?

A) oowES (B) eessy
(C) ROREN T JTINT (D) C3RTTO B,

Who is the head of real executive ?

(A) Law Minister (B) Home Minister
(C) Prime Minister (D) Speaker
g% TO09, 0T S0DFTO o33TO ?
< @
(A) TIPS W08, (B) 7@ =008,

2L

(C) B,7om W08, (D) RPBE
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43.

44.

45.

46.

By which article amendment will be made to the constituion ?

(A) Article-356 | (B) Article-368

(C) Article-310 (D) Article-315

SODTRRT GRS HHCDH RO FONERE SETBRMYR), BRELETNG 2
(A) 356 Je Y B) 368 Je Y

(C) 3103 D) 31582

Who is the present Chief Election Commissionar of India ?

(A) B.C.Danova (B) SunilArora

(C) Rajukumar (D) Karmbeer Shing
TR B350 SoIRENT eﬁqﬁsi 3D/ 533935;3‘;63 030230 ?

(A) B.C. T3Re0x* B) =R &8ReD
(C) TmBORRT (D) BTTOWET A0N®

Which Prime Minister's birthday was celebrated as children's day ?

(A) Lal Bahadur Shastri _ (B) IndiraGandhi

’ (C) RajivGandhi (D) Jawaharlal Nehru
WFY DRIV, RUST 039053 B, oS 08,030 %5 DFRITEOD VS S30RCMOST?
A) G WIRTERT TR, B) BOQTD MY
(C) Te MoOY D) TTBIRS® JeBT
Who has the power of pardon ?
(A) Prime Minister (B) ChiefMinister
(C) * Law Minister (D) The President
IRRTRS BRET SHTTII, D BRODTITT ?
(A) T,5o8 B0, (B) 08D, W0,
©) DR I08, ©) wEB3

[P.T.O.
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47.

48.

49.

50.

What is the term of members of Rajya Sabha ?

(A) 4years
(C) 6years
032;5532,;3053 ATIA,C ©RTT SBHCIN
(A) 43RE
(C) 6=mF

Fundamental rights are

(A) Justiciable

(C) Legal

TROYIRE TINED QINS.
(A) T,0D T3

(C) = wc;a

Who is the leader of Majority in Loksabha ?
(A) Speaker ‘
(C) Defence Minister

B)

D)

B)
(D)

B)
D)
B)

D)

(B)
D)

10941/A980/10911/10901

3 years

5 years

3 JRE

5 RaEfF

Non-Justiciable

Prime Minister
Finance Minister

EResALI0dd WHORT TVEE TFT T20IT BWONTTT.

(A) SePDensd
(©) dis;aa W08, e

The subjects of national importance are with
(A) Parliament
(C) State Government

ep|Nere TS BHEE DWELNATO QTING.

(A) RoId

(C) v, AUTT

(B)
D)

B)
D)

(B)
D)

&, @008, MEd
DEFTOAT W0, N0

Election Commission

Central Government

OTTTIO LS03REN
geoT, RTET
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S1:

52.

3.

54.

How many members are nominated to Rajya Sabha

(A) 23
© 12
epl =3 mmﬁdwm%p ATAT 730&325 :
(A) 23
(€) 12

Who presides joint session of parliament ?
(A) Lok Sabha Speaker
(C) Vice-President

(B)
D)

(B)
(D)

(B)
(D)

W0 BORCTID @ﬁﬁé’oﬁdg{ O3RT0 W&ASIT ?

(A) SreRyod FemHs

(©) evTooTH

(B)
(D)

10941/A980/10911/10901

24

24

President

Prime Minister

eﬁqsgpa

&, O 2008,

What is the minimum age for the qualification of President ?

40
25

40
25

Socialism

All the above

ARRTDOD

(A) 35 (B)
© 30 (D)
DRFTSOIRNED STWID TR, T, TWOIA FHTINTLIERD ?
(A) 35 (B)
€ 30 (D)
Indiads. e . state.

(A) Sovergin (B)
(C) Secular (D)
23085) WO ——————— Op

(A) RORF LD (B)
©) c;dorada'ei (D)

0B QP

[PT.O.
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55S.

n
N

The final interpreter of the Indian Constitution

(A) President : : (B) Parliament

(C) State (D) Supreme Court
WplercIa] AONIDBIY B FAE B0ER VRTITR)

(A) mmﬁﬁﬂd} B) =03 .

(C) oo, (D) 5@3@?&3@5 odneod

Who administrators oath to the President of India ?
(A) Governor

(B) Prime Minister

(C) ChiefJustice of Supreme Court

(D) High Commissioner

an;wéﬁ@ﬁ %, 3D TWBIDS) WReQROTHIL.

(A) TIERTPOTW

B) T, o N

(©) :daiperzi) T2, CROCIT SOY), T, BREEBTL
(D) @, BOTIT*

Who is responsible to Lokasabha in Parliamentary democracy ?

(A) President

(B) Council of Ministers headed by Prime Miniéter

(C) ChiefMinister

(D) Governor

ROREeCdd 29, 4B B ERETALIN 0SRT wHAIVTW SMOBT ?

(A) ©ZI® (B) @qmamogm@vmmmo@,mom
(©) maaﬂmogma (D) tmszsm@d)
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58. Number of schedules in Indian Constitution

A) 12 ®B) 9
©) 21 D) 08
$RTSS FoDPITELS BOLTERE B,

@A) 12 B) 9
©) 21 . D) 08

59. The Chiefsources of political power in India is

(A) Thepeople (B) Parliament

(C) ThePresident (D) The Constitution -
IOTBTE). Towdeod BHTITT Y S7T.

A =33 - (B) =0z

(©) CD‘-‘uee‘u’é (D) ROV

60. Finance bill in which house first has to introduce

(A) RajyaSabha ' (B) Lok Sabha

(C) Loka Sabhaand Rajya Sabha (D) None ofthese
BEITOAS FORRTOIRY, FRTWLO CIRD ATITA, WoorRIe0.

A) TR ; B) SreEze

© dmeﬁ/oauéxzj D) FHoedT CBRJTR B,

61. Minister mustto be member of
(A) ' Rajya Sabha (B) Loka Sabha
(C) Parliament (D). None ofabove
208, isb 30N BWT TR, TINTLIER.
(A) TowALD B) deeeRye

(C) moAR D) SO CARRTR LY,

[P.T.O.
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62. How many times a bill is to be discussed before it becomes a law ?

(A) 5 B) 3
(C) =i D) 2
WORRTOIROT) ToRRTN 20T WTLIeTTT DT, WD WFALIER ?
A 5 ®B) 3
<€ 4 . D) 2

63. Who is the first woman President of India ?
(A) SuchetaKriplani
(B) Indira Gandhi
(C) VijayalakshmiPandit
(D) Pratibha Devi Singh Patil
POUST BRTO =0&TD caa“aémb C3RTY ?
(A) RO THOI
(B) 000208
(©) &)zscdwi L Eors

D) = T, TEQRON T3

64.  According to which article Attorney General will be appointed ?
A) 74 B) 75
(C) 76 D) 77
SRV BWITSF ddsaq NERTRRITOD NB.
(A) 74 B) 75
(C) 76 D) 77




A G AR RATOO O 29

10941/A980/10911/10901

65. Miatch the following list Ist with list IInd by choosing the correct code.

(A)
(B)
©
D)

(A)
B)
©
D)

5 39N nt -1 &3 11 B 2031 FO0IRN ER00%.

(A)
B)
©
D)

(A)
B)
©
(D)

List-I
Article-41
Article - 44
Article -47
Article -48 (A)

Code
B: @

NN

W

1

3
3 1
2
1 2

4

List-I
41 Se Q
44 Je DB

47 3¢
48 (A) 3¢ 2O

Rogesnsd
BESC

3
3
2
1

E P R ST S
N = =

1)
2)
3)
4)

(U5}

1)
2)
3)
4)

D

1

4

4

3

List-IT

Protection of Forest
Right to work

Uniform Civil Code
Prohibition of toxic thing

List-IT
f;acm)ZS [ofef30)

@
emz:i@zxeﬁd 33'6%
NTORTJONOT A0&%S

ROT,TITTOS ST T BT

[P.T.O.
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66.

67,

68.

69.

Which one of the following article deals with the appointment of High Court Judge ?

(A) Article-214 B) Article-217
(C) Article-226 D) Atticle-216
IR DHOIN T FReLF T, CINRETT e wrj\é@rogd,
(A) 214 B¢ 20 B) 217 32O
(C) 226 3¢ 2O D) 216 3¢ 2B

The Vice-President is the Ex-Officio Chairman of the

(A) RajyaSabha (B) Lok Sabha

(C) Planning Commission | (D) None of these

POTBE SVRTIRDENG ————————~ O R0 QeW3B, 5.3 TNTT.
= -8 dewn Q@

(A) oauzszjzﬁ B) dresayd

(C) Odrexmp sodnen, - D) IR B,

Which Union Territory send their members of the Council of States ?

(A) Diu& Daman (B) Dadra & Nagar Haveli
(C) Andaman & Nichobar (D) Deheli & Pandicheri
FINT ORI B0, BWY'S B, TeSNED Tots, eirt Sa3) AW, TI), FORIS 7

(A) O3 R TR0 B) ©ome, WO INT Based
(C) ©OBEBRS B JedHed D) B3O RB) ToRed

In which article of the constitution of India has the joint sitting of the Lok Sabha and Rajya Sabha ?-

(A) Article-101 (B) Article-108

(C) Article-133 (D) Article-102

QIR DRI GRETALY T2, WeIodd 2088 SPHETIDI), FEADRMIBTH ?
(A) &6 101 ' B) 2 108

(C) B133 D) 20102
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70.

71.

72.

73,

The National Commission for schedule caste was established under of Indian
Constitution.

(A) Article-338 : (B) Article-250

(C) Article-180 ' (D) Article-142

maéeo:b WOS, Wonz £30306Ne) ROV O3 Nalevsinions) TBEICIRNOBE 2

(A) Q338 B) K250

(C) 180 D) K 142

By which procedure the President of India may be removed before the expire of the term

(A) by the Supreme Court (B) Impeachment
(C) by the Vice President (D) None of these
POIE TR, CINT DFRE FRUE ST Y B SHBHT IR BT,
(A) RO, C0BMERIFOT B) =oTYo3IREN
L (© evBTEEIews D) I e,

Who is the Supreme Commander of the Armed Forcesl in India ?

(A) The Prime Minister ' (B) Minister of Defence

(C) The President of India . (D) The Commander in Chief
TR TBENY WIVTITOTBLIOTTO C3TTO ?

(A) T,PoN W08, (B) di 29 008,

©) oERE D) RTITOBFTOIZ

Which writ issued by a High Court or the Supreme Court to compel an authority to perform a function
that it was not performing ?

(A) Writof Certiorari (B) Hebeas Corpus
(C) Mandamus (D) Quo Warranto

R0, 0806E3F BB FFRCLIFNITD 035 BEF JRWE 2.2 BHTOADI) THW ITF &AWETT
FICDFB/I, VW EROD03 ega&mrg’d.

(A) =&FodReso Ds* B) TR ToRFA
(€) =, 0= i (D) @re @HT0ER
’ [P.T..
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74.

75:

76.

7715

First women Judge to be appointed to Supreme Court was

(A) RanilJethmalani (B) AnnaMalhotra
(C) FathimaBeevi (D) LailaSeth
RO, 0 BREEFTT SETOBMROE T PO 0D 9, CARHESTO c3Td 2
(A) 083 Bet3 (B) ©mRWURCE,
(C) To8x» Ve D) Y3

Who is the Chief Law Officer of India ?

(A) Solicitor General (B) Attorney General
(C) Secretary Law Department (D) Advocate General
OUST BB),T,3 ToTRTO BHFTOCINTO ? :

(A)  FOXEIT® IO (B) ©&RF BITSF
(C) TR B ToCDFTEF D) B xITS*

Who has the authority to approve President Rule in thé State ?

(A) Parliament (B) Lok Sabha

(C) StateLegislature (D) Council of State
B FYNS c3dn Obaia’é B%%"Q'SDK')% ST, WRED BOTITRE.

(A) =m0z B) <Ry

(C) Qo= D) NS TOR

In the Union Govt. the council of Minister is collectively responsible to the

(A) President (B) Prime Minister

(C) Lok Sabha (D) Rajya Sabha

0033, 008, OB ABAEFDIN B3 FHND 03007 %I OCIRNTOE.
@A) oomme B) TpoSR0s,

(C) dresry’ D) cmaémj
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78.

79:

80.

Who decides allotment of symbols to political parties ?

(A) Political Party Leader (B)  Prime Minister
(C) Election Commission (D) High Court
03T Tazmdecd WINEN Wy C0dmY VeEIET ?

(A) somdeod BT Jezad B) TPIR00E,
(C) WoJoxmrme wodeen (D) FEeeesr

Total No. of schedule in constitution of India is

A) 22 B) 17
(C) 97 D) 12
S FoVTRTTOTOR SR o83,

A 22 ®) 17
©) 97 ‘ D) 12

In India when both offices of President and Vice President happen to be vacant simulteneously who will
discharge the duties of the President. :

(A) Prime Minister (B) Home Minister
(C) Speaker of Lok Sabha (D) Chief Justice of India

0T TIUT TOHFTS 0 LUTTHTE BT A BTN ToF TS TT IR, TOMRDAIRN O350
Qe &AEIT.

(A) TeIR08, B) nEREID
(C) dreexy D (D) m‘éperai) 9, C3ROCITI 0D, 9, oD DEP




